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Important Instructions:

The Question Paper Booklet contains 32 pages
including instructions of the Question Paper.
In all there are 200 Questions from 1 to 200
divided into A.B,C & D Sections, of which
each Section contains 50 Questions. Section
‘D’ has two Parts. In this Section Question
Nos. 151-170 are of English, compulsory for
all. For Question Nos. 171-200 candidate has
to select either Sanskrit or Hindi. Any
complaint regarding the booklet will be
entertained within 15 minutes from the
commencement of the Test.

Candidate seeking admission in Sanskrit has
to opt Sanskrit in section D. The candidate
who has applied for BOTH Sanskrit and
General also has to opt Sanskrit only.

Follow the Instructions given at the back of
O.M.R. answer sheet for filling the answers.
The candidate should fill the serial no. and
series of this Question Paper Booklet in the
OMR Answer Sheet at the proper place,
otherwise it will not be possible to declare the
result and the responsibility for the same will
be of the candidate.

NOTE:

All the questions are compulsory.

Each questions carries 3 marks in section A, B
& D and marks for section C will be 3,2,1 and
0 in the preference order.

No Negative Marking will be done.
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Part-A/A919T—31
MENTAL ABILITY/ 991% A7

Directions (Q. No. 1 - 4):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

Q
TENNIS—— BADMINTION
iR Ab
VOLLEY BALL
i (dTedTdTer)

fder: . 1 — 4) -

SR & TG AR H A srfaureie g g, ol faenfil & a@gel @ $fg @xar & S
ef, dsfimed ok dicfidial Werd €| anpfa d Ay 10 yAd &3 &I Ueb Bl &R qdrd
2| AH & AUR R A9 Y 7Y g} & IR QY |

Which letter represents the set of students who play all the three gameq‘?

(A) b (B) ¢ ©) f
Wamﬁm@ﬁ%wwaﬁwﬁ%ﬁﬁ@a@aﬁ%‘?
(A) b (B) ¢ © f (D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g (B) e € ¢ (D) b

Hiar der [enfial & S9 |gg &I quiar & o <9 @ik dfelidia Wold € ) defied
B

(A) g (B) e (C) ¢ (D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b €) ¢ (D) d

STl e el & 9 WHE I Ul & Wl S Werd § W AT 1 d8fAed &R A
gl dlefidlel ?

(A) a (B) b C) e (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b (B) ¢ (C) d (D) f

DIAr R fdenfiai ® 9 wgg Bl quidl & Wl <Y iR defied Werd & R dfelidict
BE

(A) b (B) ¢ (C) d (D) f
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10.

Directions (Q. No. 5 -7):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

frder: .5 —7) -

Ue fqernery ¥ Ui R 91 A 3R B R 3iiR Uil UeT ’2 21| C 3R B 3USH 3R e
Uel e 9| D 3R A T SRk @) ugr @ 9| E iR B gfer iR e uel @ o |

Who among the teachers were teaching maximum number of subjects?

(A) A (B) B € C (D) D

fRrerept & O sifdrpay vy &4 uer 47

(A) A (B) B © C (D) D

Which of the following pairs was teaching both Geography and Hindi?

(A) AandB (B) BandC (C) Cand A (D) None of these

=1 ¥ B P &R 2= qH ugT @ o7
(A) A 3RB (B) B3R C (C) C 3R A (D) 99 9 ®Is T8l

More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
g1 A ISy e wiar vy uer @ 97
(A) sfoEm (B) f& (C) wa (D) T

Directions (Q. No. 8 - 9):

Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

frder: s, 8 — 9) :

fay v vt @1 U reiyei wmH A SHEd SR Ay v fAFei § W walfd Sugad wH @l
fafrgd ST

(i) Appendix (i1) Contents (i11) Title

(iv) Chapters (v) Introduction

(A) i, ii, v,i,iv - (B) i, i, iv,v,i (C) v, i,dv,ii, 11 (D) iii, i, v, 1v, i

(i) uRRre (i)  SrIHAMHT (i) ¥N¥®

(iv) 3reama (v) uR=dg

(A) iii,ii, v,i,iv (B) ii, i, iv,v,i (C) wv,1i,1v,ii,iii (D) iii, ii, v, iv, i

(1)  Punishment (i1)  Prison (111)  Arrest

(iv) Crime (v) Judgement

(A) v, i,ii,dii,iv (B) 1iv,iil, v, ii, i (C) iv,iii, v,i,ii (D) i, iii, i, 1v, v
(i) <o (i) g (i) FRTaR

(iv) STURTE (v) faofg

(A) v,i,ii,dii,iv (B) v, iil, v, ii, 1 (C) iv,iii, v,i,ii (D) i, i, 1, 1v, v
How many times in a day, the two hands of a clock are at 90°?

(A) 4 (B) 12 )y 22 (D) 44

U o d fha IR, o< & 7T 81 90° W B &7

(A) 4 B) 12 ©) 22 (D) 44
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11.

12.

13.

14.

Directions (Q. No. 11 - 14):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

frder - @9, 11 — 14) -

7 fRT U g_P U H HUH 1 3R 2 B 98 ey 1 iR 2 €| frewuf @1 ufeu eiR
o g 6 s ey fAy Y &1 FeAl & ok R d@wid ¢ |

(A) I Do fFrspd 1 98 B (B) Ik daet f=pd 2 9! &
(C) afe forepd 1 a1 2 W & (D) afe fspd 1 3R 2 SH1 Tad ®
Statements : 1. All fans are watches.

2. Some watches are black.
Conclusions: 1. All watches are fans.

2. Some fans are black.
HU 1. O U, afedt €

2. GO Al Prell § |
fArspy 1. 9 gf$di o g

2. 6B U P T
Statements : 1.  All grasses are trees.

2. No tree is shrub.
Conclusions: 1. No grasses are shrubs.

2. Some shrubs are grasses.
HUT : 1. o 99 987 & |

2. % 99 ST TRl B
o 1. @IS ud e A8l E |

2. oo Ffsdl 99 2
Statements : I.  Some boys are thieves.

2. Some students are boys.
Conclusions: 1.  Some boys are dacoits.

2. All dacoits are boys.
HAT 1. B d$d AR 8 |

2. GV dsd fqemdt €
oy 1. O M ASS © |

2. il I ASD B |
Statements : 1.  No man is a donkey.

2. Rahul is a man.
Conclusions: 1.  Rahul is not a donkey.

2. All men are not Rahul.
PA 1. PIig 1 MeH! T TE B |

2. NIgd 3MEH B |
ey 1. I8 TET 8 © |

2. ¥ IMTeHY WEA T B
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Directions (Q. No. 15 to 17):

In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.
frder (ws. 15 9 17)

Ao A T uAS v | uAS gl § A= ofdl o1 g 21 I8 ded difie fF ad®
e fodl Af¥ed e 9 = v81 & S &I & H 9d gU Ud U P BET §3N 3d iId

BIfTY |
15.
4 7
5
11
(A) O (B) 8 (C) 125 216
16. f i: i:
(A) 14 (B) 22 (C) 32 (D) 320
17. (2)
O @
W
(A) 123 (B) 124 ) 122 (D) 112
18. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?
(A) A (B) B () < (D) D

g faf =1 9 A S E fbdfl Ut dfdd H €1 A, B D SR 8 3R E, C & a3 T2 A &
TR €1 B,D @ T 8| S99l AHE 789 H 87
(A) A (B) B ) £ (D) D
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19.

20.

21.

22,

23.

In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

fdfl ol | o1 9 g ¥ ey i e by oifbd Iaq 7€ fora i 9, O 9 ke
3R HATT I G 3% W1 {6 | ITRT o Dbl A A 3 < B b IHS 3 g
H HeH B TEI 2 | Dl B gfic | Fed HH H THM W I TER W TR 3T |

(A) foam (B) wfaar (ORI (D) H&

Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

T JATEHT & o &1 3R <2l §Y BY < el I AT W AN B gF @I 9l 71 W
P WIS A1 989 eI 21 =Y frwe a1 ok <@ eT ar?

(A) SUD GF B (B) SHD TR WIS B

(C) S TTET B (D) SED Hdlol B

By selling an article for ¥ 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) T120 (B) 125 (O X135 (D) %140

Bl a%g BT 110 IH 99 W 12% P! B BRIl 2| 99 9% W 8% HT oM o & oy 39
foperT vu # S= SIg?

(A) %120 (B) %125 €y TI85 (D) %140

The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% (C) 25% (D) 30%

el axg &1 & 25% U W 71 39 N I 4 fan ufowa @61 gfg 9 9w F g
qed T B SY?

(A) 12% (B) 33%% ) 25% (D) 30%

If EAT is written as 22 26 7, how will you write LIP?

(A) 151416 (B) 141710 €y 91211 (D) 151811
Ife EAT &1 22 26 7 for@r Y I LIP &I &¥ fef@r Sigan?

(A) 151416 (B) 141710 (C€) 91211 (D) 151811
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24.

25.

26.

Z7.

28.

29.

30.

31.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

HIEd ®I IR WH H IR AT & | IS IE1 BT MY BT AR 9 a9 & Al A fba- av &
87

(A) 15 @9 (B) 12 99 (C) 14 99 (D) 9dy

Directions (Q. No. 25 to 29):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader (0. 9. 25 & 29) :

Ao R Myl H R () & 9 RS T S b He 9 bl Ut 98l do 9AD
ge ¥ g () & I 9R% dTel QI UG UR AR BR TS U¥F @ folv el fAdwed &1 9w
DI |

ACE : ZXY :: FH] :

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDIMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

Ife gaT BT B, B BT Alell, AT DI ATHIY, BT BT WA, YT bT U=, YT BT Terrd)
%8l SIY ol Gl /AT ATHIE BT W F-IT BAT?

(A) et (B) 31T (C) dlerm (D) Ul

In a certain code ‘786" means ‘study very hard’, ‘958" means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 (B) 6 ) 7 (D) 4

forely fAfRea @Is & '786° @1 ‘WSl dX) BIS' '958° BT BlS dd Uul 3R ‘645" P ‘TSl TUS
g’ HBl SMY a1 N’ B U 91 Brs BIEIT?

(A) 8 (B) 6 ey 7 (D) 4
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32.

33.

34.

35.

36.
37.
38.

39,
40.

41.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
JfE 15 STERI 2004 BT IAAIR AT @1 15 SN 2003 Bl FT IR BRIT?
(A) WHIR (B) wfar (C) YehaR (D) HTAR

Directions (Q. No. 33 - 35):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

frder - W4, 33 — 35):

f=ifea ool | 9 4 9 IR UF O € 9k sHifelt t 9 99 © | BT 2 Sl 98
T ATEl 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) dirar (B) Tl (©) frg (D) &9

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) sRamn (B) ISR (C) o (D) WERTS
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3Te] (B) srferam (C) 3HexD (D) @S

Directions (Q. No. 36 - 39):

In the following questions, choose the odd numeral pair.
fader - M. 36 — 39):

fReifeha wemi 4, afpl & fawa gy &1 fafsea S |

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) |15:420 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
HAerfdenerd &1 faemff & ar € Wdy 8 O SR9ET B e 27

(A) SfaeR (B) T (C) et (D) X
Signal : Traffic :: ?: ?

(A) Dam : River (B) Lens: Light

(C) Door : House (D) Operation : Doctor

Rt Sfths = 20 2

(A) dfe: T (B) of¥ : g

(C) XA : AP (D) 3ATIREA : Sfqex
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42.

43.

45.

46.

47.

48.

49.

50.

MXxN:I3x14::FxR:?

(A) 7% 19 B) 5x17 (C) 14x15 (D) 5x18
BUCKET : ACTVBDILDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

g ffl wToT § A ST @ | 8 B &7 o 2 & 3R 3 WY 9 € &, d BIDDIC &1 &g
a7 BIT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?
(A) North—East (B) North—-West (C) South-East (D) South— West

AT ABDHIRMITHAZTIRC,BIH IE H &l A,C & Hayg # o faem # 27

(A) STR—Td (B) SR—ul¥=® (C) T@u—gd (D) <fEv—ufdem

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

TEH UM I ARG ¥ U8l T GG B R IBMH - Uh G ¥ a1d IR 8 o |
afe &M $I UBTE Uhad IHd areH AR ol d e f6a faem & are or?

(A) ST (B) =feyor (C) uf¥aH (D) AT 3T
57.10,15,70.%... 8

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559,511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

Tep O, acH H, 3" Y | fIF [Om g g1 U 99 gd 9 94 A | AR IO g3 o |
3 HI Y R®IT 87

(A) 12 99 (B) 15 @y (C) 18 ay (D) 20 @9

IS X9=1d44:T% 8§=151 ;4 %6 = 102, theti 2X F=.counes ?

(A) 77 (B) 97 (C) 107 (D) 73
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Part-B/H17T—4
GENERAL AWARENESS RAJASTHAN/HTHTI ST XTOIERATHA

51. The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer

HIeTalerT T IR & b fotel 9 28—

(A) SRIGR (B) SeIR (C) afeiar (D) O™
52. Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur

TH DI BUE IAoRIE & [H9 - 4 52—

(A) SR (B) AR (C) SITTars (D) TR
53. Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran

qrerr foer wal Rerd g—

(A) SR (B) WaTs WEIQR  (C) 3fefR (D) 9
54. Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

ISR H @I ofl Y d e rdall g R s fhar 28—

(A) TEIBRM UTelare (B) TGERT I

(C) e TR (D) HEolTel g
55. Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja

Gled XM ARV DI ISR H FHIEd fBar Sdr o 98 dedhi—

(A) HETH (B) fhari &1 w¥fler  (C) 9 S (D) NI

56. Rajasthan Vikas Party was established by-
(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram
o s uret @t RmaEr & ofi—
(A) ST el TH B)geT g (C) ER1 ol I (D) BIex™
57. Who is the speaker of 14" Vidhan Sabha in Rajasthan -
(A) Sumitra Singh (B) Ram Niwas Mirdha
(C) Kailash Meghwal (D) Shanti Lal Chaplot
144} TR fau= I & wafa eiF 87
(A) =T Rig (B) < fyarg el () demer duare (D) Infwdeltel uelid

58. How many periods of rainfall are there in Rajasthan?

(A) 2 (B) 1 ) 3 (D) 4
o H aut &1 99g fbdeT 9R BT 87
(A) 2 (B) 1 3 3 (D) 4
59. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
Sfexy 7Tt e} @) maTIHar g5—
(A) ST ¥ (B) <l 9 (C) Ul & 3Md 9 (D) s T J
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60. River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu
ST FTeT T J&H v, e Rl A g
(A) ¥FIR (B) 3IoTHR (C) <Ti® (D) T&
61. Famous Chand Baori is located in the district of-
(A) Kota (B) Bharatpur (C) Alwar (D) Dausa
g dfg dgs! Rera &, 4 et 4
(A) ®IeT (B) WRAR (C) IR (D) @
62. Which city in Rajasthan is called ‘Blue City’?
(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner
oI H fh wER &1 el e’ gl oAl 87
(A) STIR (B) 3SR (C) SR (D) dIHFR
63. Garden Bada Bagh is situated at-
(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh
TS g7 a7 Rerd 28—
(A) SRIFR (B) Hictarst (C) SITTars (D) BIHFS
64. Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-
(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prdbhdt (D) Rd_]dsthdl'l Patrika
fasrg Rig ofde, IS & ad=dT I, S8M Uh GHER 9F Adrer, S 59 AM |
NATHT SITAT =&AT—
(A) ST HE (B) 49 IoieiE  (C) UHrd (D) ISR U3
65. Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.
(A) Malchand Tiwari (B) Harish Bhadani
(C) Vijay Dan Detha (D) Arjun Deo Charan
414 dIdR @I fhed TRATNT IR oIE & b9 o@d gRT fordl 7g?
(A) HArerde faard (B) B9 A
(C) fawrg g™ < (D) 39 <&@ AR
66. Who among the following was awarded Padma Vibhushan from Rajasthan?
(A) Komal Kothari (B) Vijay Shankar Vyas
(C) Natwar Singh (D) Naresh Chandra
ol H T F 9 R ugH fasgmor 1w fear ar —
(A) B BRI (B) fasma siex @
(C) e Rig (D) Y T=
67. Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014
HHIY AFR PHIfc HRT 3feX 19 & fa%a dU d Warr &, 71 a¥ § —
(A) 2016 (B) 2015 (C) 2018 (D) 2014
68. In Arid Desert of Rajasthan, India shares international borders with -
(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIS & Y&h IR H WRA 371 ORI AT |81 &Ral o, 7+ & |l —
(A) =uTd (B) ¥+ (C) Uiz (D)  STHIMART
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69. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
SR RTTeA! &3 H ORI &7 = e afafera g —
(A) BT (B) RRIE (C) 3R (D) <i®

70. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
GATI ISTaReN &1 3R R H, R & AFR 9 f5d v # gar?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

71. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT WHETT BT URFRETT AT 39 M A ST Ol & —
(A) Tcd (B) W (C) ®Af (D)

72. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
ISR AR T 8 ol fdeell @l g 9 Siredl & ORI W oiRdT 8 | I8 ol #
fbe fapetl #rex &1 27

(A) 700 (B) 560 (C) 688 (D) 720
73. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
ISR H Sy faeg fdermery @1 =T gs ayv —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
74. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
Y 2017 BT A b1, facell BT ISR BT IREBR fH31 fiyem —
(A) 9. ua. @M (B) Sifddr &7 (C) =g (D) RS Sifera
75. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
s fdemdis & e =1 o | gd —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
76. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
TSR AFATEGR RN & Ugell Afeel 3egel i off?
(A) I HARI HSATR (B) 9T STaR
(C) = HaR (D) SNT HUl
77. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
ISR 61 9o Higell g =g off —
(A) #riel gorr (B) oHue Rz
(C) anfomr aifcan (D) 3RS BIR
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78.

79.

80.

81.

82.

83.

84.

85.

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali
Tl A ST’ ]I & fbd Rt # uftig 87

(A) < (B) SRR (C) dIHrR (D) el
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

fIoas’ ®or FHEfAd 28—
(A) ¥RETE 9 (B) I¥M—<ar¥ (C) HelGd ¥ (D) =i |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 @1 ST & AR ISR H RATH g-icd dTel Tl 8—

(A) TTSHR — BN (B) SR — TSR

(C) VTR — dIpTR (D) SIHIR — T&

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
RISTRITE BT UM Ua9 ol 33 W1fud fbar ar ea—

(A) SFRATR — SR (B) dIeSl — SIEgR

(C) TdTE — YIS (D) HIEATE — ST+

‘Bar1’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR YT YT ST 28—

(A) ot | (B) ¥1® H (C) &I H (D) @l H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERIUT U9 &1 I[STdeidh hal gil &AT?

(A) @Tds (B) =T (C) SR (D) BRTG

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

S afdd & 9 Ay 9 W9ARiE A o SaR | Mara A em, @ € # 98
3rarSe Raetoll & IROT # Far 47 |

(A) gx o (B) #aTelel (C) gsit (D) < RTEd
‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

TSR H “qHe &5 g 8—
(A) SR A (B) 9rareT 9 (C) HidareT ¥ (D) o] ¥
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86.

87.

88.

89.

90.

vl.

92.

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
TIH ST fheH &1 ATH a1 91?

(A) fFormE! (B) dT&TT & Tseit

(C) d18 deil ATARY (D) TR QR I

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RIS & J&HA & ®Y § gaiftd R equef f&a- of?

(A) Hie-TeTe gEnedr g gRaa e

(B) &Rag el vd #RIRfE Srarad

(C) ¥RIR¥E AMEd Ud ERTEAT gy

(D) Rreeror AR vd &R e

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 o ¥ fhg @ @ fog SEn oiar 287

(A) TS (B) ®Iaar  (C) A (D) dIg 3R
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

SR & el & ®U H B SF1 Sirdr 27

(A) 4rft STt gusan (B) iddl HIg g

(C) &I e (D) TG &

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
RISTRITE ®T UhdTa Uell fRifecarera waf 287

(A) PR (B) 3R (C) ier (D) SIEYR

What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
TN — 91T /T 87

(A) fafsar &1 9 (B) forami x aRifdg &%

(C) g & M (D) wAFRiE & &Rl &1 9
Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RISTRRITE 319 o awd H R & 99—

(A) 1956 (B) 1957 (C) 1958 (D) 1959
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93.

94.

95.

96.

97.

98.

99.

100.

Word ‘Rajasthan’ was first used by historian known as-

(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
Y G’ BT Ugell IR GANT, = sfagraeRr gr1 fdar ma—

(A) <fs (B) SfLgd. wmHf (C) S ¥l U (D) 9w T=
Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
HICAET, Sl U VRS ®IF €, 98 ORI & b Tl o Rerd g—

(A) @BHR (B) IR (C) R (D) IR
The copper culture signs are available in the district of-

(A) Udaipur (B) Kota (C) Bundi (D) Alwar

aE Spfa & e fea Rl § Sucer 8—

(A) SR (B) ®IeT (C) g=I (D) 3R

The seervi, caste is in agriculture, they are found mostly in the district of-

(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
R wirfar @t & Sl 8, 3 i fo el 4 g ol 2—

(A) PIeT (B) SR (C) SIEYR (D) WRAR

Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Fars @ Rt o = AT STar 8-

(A) gash (B) Tgdsl (C) ffeaeh (D) ArTaeh

The first formal grammar of Rajasthani was written by the following -

(A) Jayasimha Siddharaja (B) Udyotan Suri

(C) Bhoja (D) Hemachandra Suri

TSTRITT &1 Ugell / 3NuaRe arever fordt 78, f1 & gRI—

(A) g T g (B) &I G

(C) et (D) &A=

Who among the following is a famous singer of the Jaipur Gharana of Music?

(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
G & SR BRI b GRig FTDR Bl S Sd 28—

(A) 99T el (B) TR (C) FIRST <@ (D) =AferwT 7=
Phad paintings of Rajasthan belong to the following school of paintings-

(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
RS & s REGRI, fEeen & [$9 a9 ! o—

(A) IR (B) reT (C) wars (D) dHrR
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101.

102.

103.

104.

Part-C/9°1—4d
Teaching Aptitude / f¥rero1_3rf¥rersan

When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —

(A) You have given an effective instruction.

(B) The message has been received by the receiver.

(C) The message has been well explained by you.

(D) The receiver is ready to accept your order.

ST g el safdd &1 eRareT 48 ®RA BT ey o € 8k 98 wers 9 Ay @1 ureH
T & af I8 ey Morer o gadar & b —

(A) MU U gt fader fam 2

(B) <9 UTE gRT 9T fhar R 2 |

(C) 3= H Hell wifa wee fhar 2|

(D) TTET 3T ATRY I WHR BT P oIl TIR 2 |

Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class — room interaction
PeT By H AR R PR ' —

(A) TIreTd B We BT P AT W (B) fawa &1 HfeE wWR )
(C) faenfeiat @ aradr w (D) PelT IFd:fohar W

A teacher should —

(A) Earn money as much as he can.

(B) Make efforts for educational upliftment of students.

(C) Work for students benefits.

(D) Take care of students.

U et &1 A1 @fey —

(A) AfABIS AET H & B |

(B) BT & e S & oy yam |

(C) BHEIl & f2d & & |

(D) BE & G |

The reason of highest rate of dropouts in rural areas is —

(A) TIrrelevant curriculum

(B) Poverty

(C) Eagerness for quick employment

(D) Inappropriate interpersonal relations with teachers

T & H fAerery vie drell @1 Waiftie &% P BRI & —
(A) SUTHERTS IIgTHH (B) I

(C) wRT ISR & fory Igahelr (D) TReri & |1t sugad URWRE Gay
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105.

106.

107.

108.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

U Rietd oo BTAT 9 MR Hey [y usR wnfid & Adhdr 27
(A) S99 9qd Bl AGdH PRD |

(B) <19 3R g g1 |

(C) T FHEIRI Bl G- & d18 IThT T S |

(D) BT &I JAUAT 73 IR |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

Ifs o MEF B oMo sifdRed ¥9a H geT a1sd &, df g —
(A) STBT e o9 B g FHE |

(B) S=° eToid & |

(C) IAMIHAT ATAR FHI THY W IAD! HoASAT DI GRT B |
(D) S= ol = Rete & urg 9ol |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

3féTd A3 B IR 989 B SFTE Bl B U BIA Bl gg W swrS doar g, 1 H —
(A) BT & 9&T <[ | (B) B HHSISHIT b 91 BT MER BN
(C) U 3@ HHIT| (D) fueH & fog g@a |

It is necessary to give details of the student’s progress to the parents so that —

(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.

BIAT B YT BT RT AATID] BT AT TP & —

(A) U IS AU gl b G S Fhd © |

(B) THH AfHES B I o &) Sfd Herrg e 2
(C) 3O ol § SX 947 X8l 2|

(D) I=d AMAYTEahl DI TAd STHHRNI 8] & Fbhd |
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109. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 31T qeaidH HX <2 &, a5 3T —
(A) B & FTAR B b Y& BN |
(B) S e b < S MU Y UG # |
(C) MR BTET &I 3fd 3fd < |
(D) I8 Bl & AfdF 3id < |
110. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
U FLATUD DI GeI— AHAT BT GART HRAT A1y, Rifds —
(A) BT & 98 # Bf W& 2 |
(B) Bl &1 & UgE H dfvad &l £ |
(C) S &I IRAdd WY UG HIF 9 ure | fAfqedr o H 98™d 81l 2 |

(D) SURTad T |
111. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
PAT—DHe] FIRIYUT BT AT —
(A) T afsa (B) WM dfvad
(C) BEF Bfad (D) UIBAYIS divad

112. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
Her Rreror § ICT Ygadd $Rd THd —
(A) IJAUP I ATaIIHal el & |
(B) 3P & Il HRIMR 3Mferd 8T ST |
(C) 3P P AP GHGIH & wY H =] |
(D) 3EATIEH B YABT BT BT ST |
113. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.
ST ¥ RIgthl &1 WX SdT 81 A8y, Fifds 9 —
(A) TP HARIP BRI B ¢ | (B) FHIS & &R | fAerd 2 |
(C) Y ATFTR®T BT IR B & | (D) 3P 2| B 2 |
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114.

115.

116.

117.

118.

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

e & FETST H e g9 B ol —

(A) fEdY somfas ol & vear anfay |

(B) o T &1 s =R |

(C) GuT @) wfafaferal & s o1 dfthy e =nfed |

(D) aiftrp & 31fdd &= AT PP 394 YW BT ST ARy |

As a teacher, you would like to devote your evening time to what work?
(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

TP JAISH & wY H AT (AT M9 BT I99 {5 Hraf § =1 g6 Hea?
(A) ST @ Fdt R H (B) #ARSH &1l H

(C) o+ Iy & =g Praf A (D) \HIfTS Hral #

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
Al fed 98l 8, Sl —

(A) 3 3F <l ¢ | (B) fafid Tedrl <@ € |

(C) HOR AT & B | (D) BTET B U & Ui ForT I&dT © |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

3 BIHI Bl U od A 1 H | by AMUQUS &1 urels Heil?

(A) STURTT @I MRy Td TR

(B) fa=r fooell Hewra & ¥ &I 9HH qvs

(C) dddf IURTEN PY THRCT

(D) @ddl AURTE &I 3MFHT

If a student regularly comes late in school then you will -

(A) Complain to his parents (B) Find out the reasons

(C) Remove student from school (D) Punish the student in front of all students
afe v BE AR fJeney # faed | ear §, dr —

(A) 39 Afvasl ¥ Rremd &9 (B) 9 BRI &I gal S |

(C) BT &I fqemea 9 N <) (D) ) BT © AT S gfdsd BN |
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119. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
3% @ wU # 3N w9 AfRad SRR oF T amed?
(A) T FH B ford (B) weil & ford
(C) ueERT & ford (D) T&ar & ford
120. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
TSTTT UeT &R & ford aid are & —
(A) TRar (B) AT
(C) Y&idh (D) T ARy
) 52,1 [ helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
AR BT AT g8 H Feld & —
(A) B (B) il 3edudh
(C) UF—ufFahTy (D) uRaR S+
122. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship
(C) Give punishment (D) Personality development
e &1 v W 35T © —
(A) ¥TNT DI BT fabr™ (B) \mIfoTes ARG &1 faer
(C) TUs TAm (D) ofdaca fawm
123. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
A% “Iged Bl & —
NI SIGIEED (B) IoTdif=d
(C) S AmEnRd (D) dHTEmE!

124. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.

ST FIHR H R1eTdh IR B ©, Fifd —

(A) BT S VAT B & ford g & 2 |

(B) S TH—cliqudT 9g ¥ & |

(C) SIHT da9 HH B |

(D) W @& A H AMglg B A 9 30 9 BT AR BT <18 & |
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125.

126.

127.

128.

129.

130.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

Rt gRT Bl DI < S arell R =1 9 deafed g @nfed —
(A) fren sraafe & (B) dsiifie &1

(C) &P Ud medTed | Hafdd & (D) Suad g+l

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
JATIEH Bl STFTHHAT UR 7R HaT & —

(A) JEAUH BT S (B) 3ramgsd @ anfdie Rerf
(C) AP &I =TfY (D) IEATIH B TGO

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
IfE ®El JomIfad g8d & <8l g, al 3T —

(A) fa WrT o (B) & ofif

(C) & g ver @ 3R B (D) &4 &l <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BT BT FAHTOT fJbT fHar ST FaoaT & —

(A) TRrefor gfaem qax (B) ™IS ST &1 91 HRID
(C) ©H 4 @I & 3d &1 9 aaxk (D) SHAD! &9 QR

The leader of the group can only give successful leadership when he will :-
(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich
FYE HI =al I Fhel e @ HHdT &, 99 98 —

(A) e & (B) STRII &l
(C) TR & (D) o= &
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
fee e &fed favaawg &1 Rieror s =nfed —

(A) BHEI & FAR (B) wvsl H

(C) d91g #H (D) da—dra 4
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131.

132.

133.

134.

135.

136.

137.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

e FHST H AT qRISAT BT LTI HRE BT AT AT & —

(A) ®BE 9 4 (B) Sifwrasdl A Hud

(C) mIfTed defor (D) U&id Jegy

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gardl fAotg—famior fRk @xar @ —

(A) =T W (B) Wl R

(C) =IdT U4 W&, TFl W (D) THl & Heg ofa: fohar W
I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

! TaER DIE AT 2, T AN —

(A) ™ 91 T A 2 | (B) 3= w@aref @ 91 dRd 2 |
(C) fosh fsty &7 < <q €| (D) ST H TSI v 2 |

How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers

Rrerm # R fow yaR dwg 27

(A) WS R R (B) uxlerr ugfa # gRacy wad
(C) I wR 34 o5 T Hd (D) #1s Rl &1 Fgfaa wxa
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BTF B YIS FHT H 1 3 WX 3ehTUd &l aArfed fb —

(A) GIRT FHSIAA (B) 3Tl U3 YT X il
(C) uram | a1 Hr (D) U gBI

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

BHEl H TR B 3fad GeM & o segus ol 1 HRA1 argd?

(A) guRem™ qam =iz (B) STIEXV AR HHSIHT dATfed
(C) eI &1 a1fed (D) @IS <&

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

fawat @ =ae @ ford amaw® ® —

(A) fagar o (B) e P o

(C) waa¥is Ade= &t (D) BET P STHT B
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138.

The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
JEATYH DI <% — A9 @I "Rl 3 = JAFHR U 8kl & —
(A) sfer @ gaa! | (B) HHRER-UAI ¥

(C) STt go=R | (D) faeg y\or &

139. While teaching in the class, the teachers should —

140.

141.

142.

(A) Seek active cooperation of the students.  (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
GefT H yerd |Hy, Rerdl & =rfay —

(A) BE & AfHT TEINT &1 T B | (B) BET & AfSpa shiari & w0 § 9 |

(C) BTET UR BIE &9 7 ¢ | (D) B & HfSATsal BT g BN |

To motivate students in the class, the teachers should —

(A) always praise their students.

(B) always criticize their students.

(C) judiciously use praise and criticism.

(D) give such comments which neither indicate praise nor criticism.

wefT 7 BTEl B URT A & o, Rierl @1 =2y —

(A) THIN AUA BTHT B ARMEAT BN |

(B) BHEI 319 BHEI &I M- BN |

(C) fades | ueT 3R 3T BT SUART B |

(D) Ul fRuforat € & 9 &1 \xIE+T 3R | 81 JMelr=dg fd & |
During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.

(B) ask the student to come after period for the answer.

(C) scold him and tell him not to disturb the teaching.

(D) not pay any attention and continue his teaching .

FHET H UM @ AN Udh BIF U YDl &, Red & afey —
(A) Y dchlal Hel oad ¢ |

(B) BTF &I SR & [oI¢ BIeNe & 918 39 & U Pe |
(C) S Sic 3R SU He R § arr S 7 Y |
(D) PIS &9 7 § 3R (U= Feqor &l 9Ny I |

The basic responsibility of teacher in the class is —

(A) to promote learning in the class.

(B) to extract school’s fee from the students.

(C) to arrange the records of the students of the class.

(D) to give extra importance to the students having tuition.
Fen H Rerd o 7o R @ -

(A) e | HfeTH BT 3T |

(B) ®HEI W fAened g a¥qer |

(C) ®eM & B & Rbre B AaRd HRHAT |

(D) TIYIE dqTel BTA B AfeIH AT 7|
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143.

144.

145.

146.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.

U der T Bl 3TU BTA & A1 FIER H dI SHIE & —
(A) gfgw BEl @ A1 S TR |

(B) NI BHEI & Ui 34 |

(C) |41 BE & A1 FA AdER |

(D) ®BTE & SHIEl & ATAR UdeR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) he is a guard to the society.

(D) he is indulged in giving shapes to frustrations.

Rier &1 41t <eie 4FT ST B, Hife —

(A) SUH 9y & A B FHET B A2ATE &Far B |
(B) 98 \mIfIe favary &1 udia € |

(C) I8 FAT & oIy U Wadretm 2 |

(D) I8 HOTA DI AHR a7 # ford 2|

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
Rreror g w6 A ... ERT AT ST =R |

(A) FHIS AR grfera Rrerani (B) wRifard afdeat

(C) 3w fRerepi (D) gar uferrerell efaaat

To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

U Riets & wu H Bl H A0 B fABRIT HRA B forg —

(A) 3T BB I TaAd T8l BT qlfh e DI Teld |qael A1 9 |

(B) 39 39 |+ o &1 ufafdfaa w31, e 3 T sxarn 9mEd & |

(C) 39 BB AR Tl 3R I8 FHSMU |

(D) 39 gH Ha¥ @ 31wy g=di H gaold g |
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147. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
PeTT BT A BFT AMET —
(A) @& BT a4 Armorg faemeft | (B) Rers &1 =T fasmef|
(C) e BT T Frfoermen faemedf| (D) Fer & i faemeft)

148. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.
(C) Students have fear for teacher.
(D) Students follow every instruction of teacher.

e Bl # Afdd qeui o1 fAelid #) dad €, R®ife —
(A) Prere & faenffai o1 aRd & &Y edr 2 |

(B) f3rre faenffai & forw amesf &

(C) faenfefat & Rrre & ufd vu gar g

(D) faemeli Rre & vds Ay &1 gree &7 € |

149. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

A AT e werm § ges gfomeimell 81 daT & iR afud @l UeHl & @Rd SR
T B | 37T 30 BIH D G H T B 7
(A) T oITHd w9 ¥ BT U Ju 3R I MR 7 M & fog 797G |
(B) ;Tqﬂgwﬁ%‘ﬁamﬁgﬁaﬂﬁwééﬁﬂﬁqmmaﬁﬁmﬂmﬁﬁﬁw
I
(C) T W Pedl b Hefl H AR BT AUIdA AIER © |
(D) 2 faemfi ¥ e wifca ue gBd foaw S¥ I8 Te9N & & oy |aw 3
fRreri 4 4 v 2 |
150. This is believed that female teachers are more suitable for primary level teaching because —
(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.
(C) They agree to work on low salary.
(D) There is no need of high qualification for this profession.

g AT STl & b After R wafde Wk @1 Rem & fory st suger €, adifd —
(A) 9 92 & A1 RIYHH iR UR A & H & |

(B) SH® U I Al & folU &H AR ¢ |

(C) d &Y I WR P B & fofv Ugad el 2 |

(D) =9 U9 & U Sea IFYAT P BIS ATIIYHAT 81 & |
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Part-D
Language Proficiency-English

Directions: (Q. 151 —152) Change the following sentences as directed in the brackets-

151.

152,

153.

154.

155.

156.

157,

158.

159.

Only a coward would say so. (Transform into Negative)-

(A) Not even a coward would say so (B) None but a coward would say so

(C) A coward would only not say so (D) No coward would say so

Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.153) Choose the correct Tense-

| SR the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.154) Change the Direct narration to Indirect narration-
She said to me, “What are you doing?”
(A) She asked me what was I doing (B) She asked me what am I doing

(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.155) Choose the correctly spelt word-
(A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-

A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’

(A) Emerge (B) Uplift (C) Remove (D) Increase

Directions: Give the correct Antonym of ‘Compassion’-
(A) Anxiety (B) Hatred (C) Connection (D) Conducive
Direction : (Q.159) Choose the option that is correct-

The teacher was too angry that she left the classroom-
(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.
(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.
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160.

161.

162.
163.

164.

165.

166.

167.

168.

169.

170.

Direction : (Q.160) Choose the option with the word that is closest in meaning-
Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.161) Choose the option with word opposite in meaning-
Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.162) Choose the correctly spelt word-

(A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist
Directions : (Q.164-167) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of
the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a productof ................

(A) Present character (B) Politics (C) History (D) Geography
The character of a nation is the result of its-

(A) Ignorance (B) Cultural heritage

(C) Socio political conditions (D) Mentality

The need for a greater understanding between nations-

(A) is more today than ever before (B) was more there in the past

(C) 1isno longer there (D) has never been there

‘Genuine’ 1n the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.168 - 170) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) All
Everyone expected the same team ...............

(A) towin (B) was winning  (C) won (D) will win
It toak IONEEE visivisnissmis sy [ expected.

(A) though (B) but (C) than (D) then
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171

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

HT—aq

AT Aar - fa=d
g1 fRF-—R1d gl 2 difds ST YRR ukien & =74 81 WY | X&ifdhd g 5—
(A) e 9IUP 3Ty (B) St dd ATRIGHRYT HH=ad qeIdH
(C) FHMIEGRYT =y dred (D) foara
T Sl 3 W@ T | g W gEd’ wanT 8-
(A) Uddgdad (B) dgdda+d
C) Udadd & U WR ggada- (D) dgded & WIH W Udhdad
e yog 9 fAfid e T8 8-
(A) ofRaer (B) TSI (C) 98 (D) Wa<a
=1 ergg wafaard 9 2
(A) fAfer, <z, arfas (B) o, 4y, ger
(C) wuiy, fawfy, wrena (D) Rw, g1, Siefg

e # srgrg fausianft wiE 8-
(A) Yef—uferer (B) MRTH—1RGH (C) Wii—RH (D) HIHT—IMHIRRI
vad, YT faei, ¥, 99, ge7 fwy avaredi @ aref g

(A) fIR (B) T (C) W& (D) 9T
Y& AR e R A8l o—

(A) ST SIdr 91 ST 9@ : 3ig (B) AR H S aTell : &
(C) e foram gorm : << (D) <t R=T garm =l : ufod
GfGHAT B BT T 3refdlerd HETaRT 8-

(A) A BT T (B) 31del TR TR UeHT

(C) 3del & °rs SISl (D) 37del &1 gdall

“wHag FARIAY 8 7 SR | DI &1 aref 28—
(A) g=i & FAzar fig a9 8 ol 81 (B) g (U gRedl Tal viedT |

(C) T & WIS I-T ATER BT | (D) I IR G |d S8 1Y O @ |
JuT G BT g9 arelr fawed B—

(A) *frag (B) weMA (C) Tarsi (D) #WEIR[™
fareforRaa & 9@ s O foese wd) =& &—

(A) 3f¥ + I (B) X + 3@+ (C) @+ wm (D) =+ =3

BISEF’ e BT qEl qH faug 8-

(A) #re1 & forg e (B) ISl BT &

(C) ISt 3R & (D) ST AR & BT T8
HHERY I BT G drell fdded 8—

(A) “reAdHe (B) s (C) RO (D) HSTGTE!
‘A, 89 3R 91T’ Y T Tl ST B—

(A) S (B) 3@ (C) ufa (D) @y
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185. faceh 9T & SuaTd § 91 veg o—

(A) YRBR (B) #RUe (C) ezl (D) BRI
186. WTgdra®d dfgd Uedd I 99 I bl I Tl fAded a—

(A) UFER (B) oar= (C) drferdT (D) WHSERT
187. ‘313 BT I qToll IS 8l B—

(A) UG9S (B) @7 (C) %y (D) SIICdg
188. I TG TR ‘HHE HT YA B—

(A) 3/, S, |ferd (B) fafrw, gy, amery

(C) grafsy, &foft, Afe=h (D) Hfer™, AFRY, A
189. fauTe vt o1 fAURIARi® g B—

(A) T3 (B) dx&H (C) gy (D) Jfad

190. &= fddwey A vreal ! =81 gwiar 8—
(A) wpE-faga  (B) Rw—afern  (C) dam—gart (D) E—faRm
191. ‘*R—AR’ vreg gt &Y 37ef Brar 8-
(A) WRIHTST—THS (B) 980 9A9 dd— TH
(C) AHE—HTDHTT (D) Ygg§— BT
192. STET T, IHAT 98l €, 98 ¥ SUSS & | a9 -
(A) WERY 9 (B) WA g (C) A gre (D) fuears e
193. fr=1 # & 5w fawey & Wit s gg 8-

(A) WTd:Tel, ST (B) i, it
(C) fagdl, siwd (D) drcHIfd, SHTs
194, 31 I9T B
(A) 9&T TR HIaT 91e1 &l B | (B) SR UH YfGAM aferat & |
(C) =l R BIar ¥ Tl | (D) H=AE IMADHaral ART 13T |
195. &l 9% &1 U P Iche AT I S arell JaTeRT o—
(A) oifal & T (B) SifE IR BT
(C) 3irai # @ Jawm (D) SIS o
196. ;’fm—ﬂﬂﬂ TR GG UL, TR BT UR oo | fog WIf® ShIE T W Bl
3
(A) eaf (B) TSI (C) dreft (D) fafd

197. 771 # argg oMeiRe @vs 28—

A) F+Y=& @B) q+I¥=F (C) T+T= D) Y+I=4
198. THH—IGHT BT 37 ™ o—

(A) -39 (B) SSIFI—3SIAT (C) Tell-geirqdl (D) &g
199. S oISTE @I 87| 9T H HIf WE g—

(A) SHTY qadTd (B) M= Hddrd (C) el Yadrd (D) MR adq= &rd
200. =1 # 9rgdrae Al A8l 28—
(A) F99 (B) R (C) 9% (D) Ul
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

HRT-§
HINT Il - A¥hd

Y oyl arRmRa—

(A) STeTHRdTO: (B) foqgwn e

(C) SUTETT e (D) B U TG
BRBIOT Haf<i—

(A) b (B) we (C) 9« (D) 31

UEHEr: faures Iy eifka—

(A) SNfeRIT F&a1(B) EAIST<RT WAM(C) JYae < e (D) WR: |~y wfedr
TEAIE TR YT oleTorq 31—

(A) STRUSRIUY: (B) YdUarRiue™: (C) IIUYGRUYH: (D) SHIUGRIYL:
T g9 wafa—

(A) AT (B) dd—d<dg (C) d@r—odq (D) dF1

TP TR U YRfaugAn: ANT—

(A) S+ AR (B) I + 3] (C) SR+ (D) TI + 83

Y aredy Pg—ara k-

(A) B PSS (B) HFA SIS

(C) HHH HIENSPHSRIT (D) HHE HIENSHSTRI
g’ 3fd uew Afufdess: ifa—

(A) O + 3 (B) I + 3 (C) T+ 3md: (D) I + TP
grfdper: &:?

(A) Trforfa (B) udsifer (C) HARA (D) TRERS
IMIIR YT HicIfaer |fd?

(A) Prfaer (B) dgfder (C) uafder: (D) wsfaer
Fovew agii—agaad wu dfasfa—?

(A) AT (B) Wolw: (C) Ha™ (D) el
YHRY STARY] RITHRG—

(A) i (B) el (C) == (D) HS:
TS gul: IRd—

(A) TPR: (B) dHR: (C) SHR: (D) WHR:
“gred: fharan ... A9t & Raw: W Hqafa—

(A) ®Tg; (B) Suwf (C) fopan (D) s

NKP-2018 (Series-C) Page 30 of 32



185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Hepd IUET: fd?
(A) 3rCTE: (B) <arfderfa: (C) vaEfdwf: (D)

oq SARET Yo Uehfaueqdn: grT—

(A) T+ 7q (B) @+ Iq (C) F+3q (D)
(A) €rg: (B) == (©) Iy (D)
YR 3ARFT Ua Uebfuer: NT—

(A) ¢ + I (B) © + vaq (C) @ + vaq (D)
(A) &H: (B) HHISTH (C) 3ureTH (D)
eI IR qaferad Re w1 dsi wqe

(A) IUTETH (B) SIHEHH (C) @®H (D)
YAl & FHE:?

(A) BHIRY (B) 3R (C) gy (D)
SfAggTq $03 FHAERIS g3 fhe?

(A) qa=d fo (B) fot (C) fiea (D)
fareyu faereoT qgem:’ I SIERVERG—

(A) T (B) ®ITW: (C) drge™ (D)
Iy g4" 3 &1 Gl yawia?

A) & (B) M. (C) ey (D)
R JTAT T UGTA NFR .cooooseeeeersessseeesssssene BT Gfer?

(A) & (B) @A (C) fow: (D)
UG U YIURANSD] BT AT WTq—

(A) dggfer (B) wEdHq (C) ot (D)
Rraisal:’ gl s dfe—faws: &2

(A) Rt + o= (B) Ry + s=d: (C) R + amd: (D)
g g RNfrsere stHyeTRr gfdaes v vfasfa—

(A) & (B) ™ (C) HuMH (D)
faag’ sfa U engerdred 31fRed—

(A) 9l + dIeddR (B) 4l + geaadRr (C) 4l + dsaadrR(D)
M vy Al fave: wuHRa—

(A) XTHIq (B) g (C) XU (D)

£
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